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E. Minimum Path
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const int MAXN=2e5+5;

int head MAXN|,edge cnt;

struct Edge
int to,next,w;

edge MAXN<<1];

void Insert(int u,int v,int w
edge|++edge cnt|=Edge{v,headul,w};
head|u!=edge cnt;

struct Node

int u;
LL dis;
bool s1,s2;
Node(int u=0,LL dis=0,bool s1=0,bool
s2=0):u(u),dis(dis),s1(sl),s2(s2
bool operator < (const Node &b)const
dis>b.dis;
LL dis[MAXN ;
bool vis[MAXN ;
int main
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int n=read _int(),m=read int();
mem(dis,-1);
dis =0;
m--
int u=read int(),v=read int(),w=read int
Insert(u,v,w);
Insert(v,u,w);

priority queue<Node>q;
g.push(Node(1,0,0, ;

Iq.empty
Node t=q.top();q.pop();
vis|[t.ul[t.s1l][t.s2 ;

vis/t.ul[t.sl][t.s2]|=true;
int i=head[t.u];i;i=edgel1i].next
int v=edgel[i].to;
_for(j,0,2) for(k,0,
LL d=t.dis+edge[i].w;
bool sl=t.sl,s2=t.s2;
j==1&&"s1
d-=edgeil.w;
sl=true;

k==1&&!5s2
d+=edge i .w;
s2=true;

dis/v/[sl]|[s2|==-1]|dis|[v][sl
dis|v]|[sll[s2]|=d;
g.push(Node(v,d,sl,s2));

_rep(i,2,n
space(dis|i ;
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